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Hall Ticket Number

s.No. | 35553

To be filled by the Candidat
(Tobefilled by the Candidate) Booklet Code

PAPER - II (%58 - II)
INSTRUCTIONS TO THE CANDIDATE (e25508 Srisien)
(Read the Instructions carefully before Answering)
(Tmeo Food o eFshes B WSt FPET H680055TR)

1. Separate Optical Mark Reader (OMR) Answer Sheet with Carbon Copy is supplied to the candidate along

with Question Paper Booklet. Please read and follow the instructions on the OMR Answer Sheet for

marking the responses and the required data.

vFghoR ETHEo wfBHE Jw 6RES Sl 040 (Laowd) narw HiFo by SEww Hgo

(s*&yo 5h) & wobodaddiod. wafgien 2w aw) Snod Ldosb zaa JEow LI

RS0 /8RS SErTrTed) idm 58800358,
2. Candidates should write the Hall Ticket Number only in the space provided on this page and the

OMR Answer Sheet. Do not write the Hall Ticket Number anywhere else.

& PoPigo Soth DB Lo earw HFo P SrdodS B0’ P weghen S FSEES

Fo23530 |TaIBR. FEWEH Joadbd DG Irairdd.
3. Changing of answer is NOT Allowed.

2o J8 éﬁ%é:uﬁ*;ﬁ: Srénbi sdoddodadl.

»  The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle of 1, 2, 3 or4 in the OMR Answer Sheet with Blue/Black Ball Point Pen, as it is
not possible to change or erase once darkened.

2838 Ldowb aoawdEon Joodd aarmd dédo Sadth, sod Hﬁau‘fgm SogorT we5* o)
2ok doo 8o Seod orSronod 2ad' [,2,3,4 SHmmod® o8 5HIa) JaRd Jredss.

% Use of Eraser or White Fluid on the OMR Answer Sheet is not permissible as the OMR Answer
Sheet is machine gradable and it may lead to wrong evaluation.

Sarergofmo chogo egdom ZHigtab S8 Loowss aaran Sgow EES é}:m& Q) Japyda
THb% vdoled B4,

4. Immédiétely on opening the Question Paper Booklet by tearing off the paper seal please check
for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions
(1-100), (iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the
commencement of the test.

W0 BPFSgo wEBY HS% DEALE Jokd edien Suggor (i) $5% Ttravods wiSE ¥E

QIDIST6PE GED 48 T $0800 3B, (ii) 1 Hob 100 555 RH S FHod” aHD

820 56800ESBM. (iii) Do Hopy Sbckn (iv) 3B So@e. DI 1EYH) dacrod’ BT Soven

685 e wigfon 8 DEFIEED )b 083 HOF IFrbogiBs 5 WTred® Pabied) SriyFSob.

5. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables
are not permitted into the examination hall.

SO Frend 8 ddnSodl DOFIE HOST B v PEFS, Wb, 5o8gBLS, SR ThHeo, fidd/oh

anEen wdndodocindd.

Signature of the Invigilator
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One mark will be awarded for every correct answer. There are no negative marks.

N0 08 arabh el Srdy, Iraneddo 260hd0s. Jodod Gerd)E Sroy e T,

Answers to the questions must be entered only on OMR. Answer Sheet by completely shading the appropriate
circle with Ball Point Pen (Blue or Black) only.

Npo T Swy wrdravoll e Ldos asmdgon From S8 SymmY) ddnHed aaad
bld TR IN T NN

The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.

Laosb zarw HFon fFod' D) Dimo WEF Sor LYSH Tl Sarergo¥ardd HoKSodals.
The OMR Answer Sheet will not be valued if the candidate
Hﬁgg Ldosb zaren DG & HILS "uﬁ},@l:) D08 dbdeo aaad@o Srergok@o Do,
(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided
for the purpose,
Ldowl arw dgon Srdodd Ehdod”® 58 TGRS ol 3T Hhded’ 25 ¢ L;-h;ﬁg:&:ﬁa

(b) Writes any irrelevant matter including religious symbols, words, prayers or any communication what
s0 ever in any part of the OMR Answer Sheet,

Ldossb maran NGOD HEDHILS DTHe, Horw, HEew, @*gém H08 286 WhonodHd dirardo
@'h:ﬁg:ﬁ.‘&n

(c) Adopts any other malpractice.
Sl &@Jéﬁﬁﬁa Freondide

Rough work should be done only in the space provided in the Question Paper Booklet.

RERigo 20fB8S® D56 Berowods padod Se@d 2dy 5 (69 56, DoESB%.

. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end

of the examination.
7550 2,830 Dl Feod*s (HIR0DN s HO Saio AW HTK BEHLE Hodudd.

. Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the

OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
gigd 85 oo wEBED Sironodl (HEFos’ HEgIELN oY) Sodfo SHE I, vwerd Ldoud
BaTOHE0 @Eﬁgg Btrranodd @’Jﬁi‘mﬁ‘ &5 Sod8o WaDHHBN.

. The candidate should write the Question Paper Booklet number, OMR Answer Sheet number and sign in

the space provided in the Nominal Rolls.

F5S FSy EJQE'OT'JIS PHEdos® esz-jgg Rambigo 08B Sopg, Ldowd adrendigo Sopgd SHRS8M
oS8,

Return the original OMR Answer Sheet to the invigilator before leaving the Examination Hall, Failure to
return the OMR. Answer Sheet is liable for criminal action and the result will be kept withheld. The carbon
copy of OMR Answer Sheet and the Question Paper Booklet shall be taken away by the candidate and
should be preserved till the declaration of results.

365 Hreo Hod pobir 3PS wies LIowE 2TedER) S65IEHIE votBahsBH. 08
armdgo vodEdhad’ ofgdn ¥8d $dgeo S%0E 5o 2éifidiod Sbdin wdd Fdsod
fensbodadiad (D8 ":.J'eg) @?.‘fgg Laowd arw Hfo o Hddn & PE@Esves &5 Job
&t 3¢S, Hdereid Juded S vy Llows armdigo Stood Hddin BaHEo
BB 85 3¢ el FESEE SO,

This booklet consists of 32 Pages including Cover Page and Pages of Rough Work
& PFOSo wEBE E36rhd o D& 5D (65 56,8 505 32 Hdw 08 45)0
' 2-A
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Time : 3 Hours Marks : 100

Instructions :

(i)

(ii)

Each question carries one mark.
8 PH% o Sy, S,

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1,2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BiHS alS HE HHH adads UGS SoGS SraSind ISFY TV Srdod
®o8 1, 2,3 8% 4 3o ad)d OMR 38rges Hgsne’ @9 Sopgdd dddm Ko
202088 LI war/ers ord Foodd W) GIArAcd JoHIB.

‘Blue shift’ observed in the spectrum of light emitted by a star represents that
(1) Thestaris movingaway from the earth

(2) The staris at rest

(3) Thestaris moving towards the earth

(4y The temperature of the star is decreasing

a8 Sfdo Sood Iendd 5708 SgHLoet VD DYDBI’ HID JrDH00
(1) grd oD 8 $EBo Grbom FSdo

(2) © IZeho Jomdo g@ﬁ‘ 0040

(3) w Jggo grdo Y orddo

4) © 3§80 g, SYS Sfddo

A p-type semiconductor is formed by doping an intrinsic semiconductor with

(1) V groupelements (2) 1V group elements

(3) Donor impurities (#) Acceptor impurities

o Sgerda of avrsol A& SrbEsmo BoSHE p-d¥o o TdrEo Q&0
(1) V $ry Srosen (2) IV iiIrd Sorosen

(3) od Srdagen (4) ferd Srdgen

The appearance of colours on oil films on the roads in rainy season is due to the phenomenon of
(1) Polarisation - (2) Interference  (3) Scattering (%, Dispersion

STsro0d’ 8% D Srd ded dohod' EIvothiad HFBoT Gichoho
(1) &ydeo (2) Sg&8ea0 (3) H88dmo (4) JsHmo

3-A
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4, A current carrying conductor produces
(1) Magnetic field only (2) Electric field only
J}j’r Both electric and magnetic fields (4) Neitherelectric field nor magnetic field

DeogS DSerd) 28 ko ¢)8 Foo
(1) wckam o8 §go Sm@d

(2) dogs go S

(3) dbogs Hoboin edhir), 08 gEen Bodr
(4) A%gs B¥o 5, w08 o 5.

5. Which of the following is not the property of LASER light?
(5} Coherence (2) Chromaticity (3) Highintensity (4) Directionality
o8 Qe D6 Bub 5708 f.’.f-{illo s+ &a?

(1) owgs 2) 3po0a (3) ©Gs bgs  (4) oTsEs

6.  Which of the following is incorrectly matched?

(1) Carborundum - SiC (2) Corundum -Al,0,
g}} Silica - Sit (4) Diamond-C_
$od TES' b HOM wEWHRESE?

(1) s&dodo - SiC (2) §%6odo -Al,0,
(3) %os -Si (4) 3ok -C,

7. Identify the molecules with same bond angles from the followingy
Bod TIS" 28 wofsno Ho vmHo HBowed
XeF, (I), NH,(I), CO,(II), C,H,(IV)
(1) I1&II (2) NM&II (3) LIM&IV (4) &IV

8.  Tomato contains an acid (P) and apple contains an acid (Q). P and Q are respectively

(1) Oxalicacid, Malic acid ~ (2) Malicacid, Oxalic acid

(3) Ascorbic acid, Oxalic acid (4) Oxalic acid, Ascorbic acid
&2 &) sdyo (P), ubds® &8 edo (Q), @ond P, Q e S60dm
(1) esTdF esdho, Sr0F &0 (2) SrOF esivo, TdS wdvo
(3) e¥n,8)§ wio, wrds wdo (4) ompdf wiyo, e Bf el

4-A
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9.

10.

I1.

GS-1

Identify the correct statements from the following
I)  Sulphide ores are purified by froth-floatation process

Il) Smelting is generally done in Blast furnace

) Zone refining method is for réﬁning iron
IV) Aluminium is extracted from pyrolusite
Bod FAS* S0@S PivTed MHiowsn

) 238 @8cH owgor $BYE TéPHod HE I
) Féwor Eoad) RFoDsS® athHed
) Sode 5ES HY8S* adhdnd HF B

IV) sorgdabos 8foogpes Sod Sofirand

(1) 1&II (2) I&II (3) M&IvV
Which of the following represents an addition polymer?

(1) DBakelite (Z) Nylon-6,6
(3) Polyethylene terephthalate (4) Teflon
808 T8S* b Hokwd FOSE?

(1) @sses (2) I - 66
(3) 202608 BSOS (4) 8as

Assertion (A) : Water loss in liquid form from the tip of leaves in grasses is called guftation
Reason (R):  Root pressure is the causative agent to leak more water through stomata

in tall trees

Booklet Code

@) N&IV

(1) Both(A)and (R)are true, and (R) is correct explanation for (A)
(2) Both(A) and (R) are true, but (R) is not correct explanation for (A)

(3) (A)istrue, (R) is false
(4) (A)is false, (R) is true

Ahdo (A) .16 wrdbo Hgro §F o8 I (65 drdod' SehiH Dodae

@odrd

sroman (R) @ 9835 Spred” Ji8 Sogro o8 AHydm dbh S Hots kb dds

RGN G0

(1) (A) 5808 (R) e Bodkr 20, 518650 (R) 058 (A) S $35 560
(2) (A) 0050 (R) Bodr Do, 59 (R) 8036 (A) & 538 S8 st

(3) (A) dzo, (R) dzo 5
(4) (A) dzo 52, (R) dzo
5-A
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12.  Choose correct pairs from the following

14.

(A)

(B) Active transport

[

D)

Mycorrhiza

Hydrolases

Citric acid

Fungus and root
ATP expenditure

system

involved

Transfer of hydrogen

Photosynthesis

Bod a8 Sod I8 adods IdnFhdn

(A)

0oy Sareo

SJEalr Sarese

R EEEEY

oI35 wdoo
C.D

AC

20050 Hodokn Bth B¢

AlP &)y eihd

wE'Ee S

S8maag Soadxi (Sab

(2) A,B
4) B,C

The cell organelle involved in protein synthesis

(1
(3)

Lysosomes
Mitochondria

283 Soides* &'d\3 Seromen

(1)
(3)

BAFSoen

Deés'sodass

Booklet Code |

(2) Plasma membrane

(4) Ribosomes

(2) EeadoiSo

(4) BESoen

The process by which fruits are formed from ovary without fertilisation

(1) Polyembryony

@)

Parthenocarpy

(2) Apomixis

(4) Vivipary

sob8bn sfihHon voaicho. Sod Hoo I HEch

(1) o5odbodd

o e

PALETIRT)

6-A

(2) edodrd =ddo

@) adramyessss
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15.

16.

GS-1 Booklet ‘Code A

Match the following
List-1I List-1I
(A) Biome (I) Lake
(B) Community (I) Earth
(C) Ecosystem (IM) Niche
(D) Biosphere (IV) Rain forests

(V) Different populations
Bod AN BEHTED0

(A) 2&rS (0 65
(B) #Scmrdldn () e
(C) wddw ;’Jgég (1) HBe esarHdn
(D) #Sf'¢o (IV) Sogeagen
(V) o3 o agwre
The correct answer is
SLITRR ISR M
J) A-1V,B-V,C-LD-II (2) A-ILB-LC-ILD-V
(3) A-V,B-I,C-TI,D-I 4) A-1,B-II,C-V,D-II

Sequence of blood flow in human kidney

(1) Renal artery - Afferent arteriole —> Efferent arteriole - Glomerulus -> Renal vein
¢2) Renal artery -> Afferent arteriole = Glomerulus - Efferent arteriole = Renal vein
(3) Renal artery - Afferent arteriole = Glomerulus - Renal vein - Efferent arteriole
(4) Renal vein - Efferent arteriole = Afferent arteriole - Glomerulus - Renal artery

SrdS Sar@dodo wyor S0 PHSrod ddond Srowd) HYoted

(1) .8)% 5 = edair I8 > edair G5NE - 658Erds B = HHRE
(2) )8, 69D = LT §HIE > EEITIs HE)o 2 LITY G > HFHE
(3) %)%, DA = DT 58 > SLEE hifyo - SN0 = edTir §SdE
(4) SHRE = dTir §HIE 2 YT 28 0g8drdse o= HE), G
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17.

18.

19/

GS-1

Booklet Code

[dentify the incorrect match:
(1) Amniocentesis -
(2) LUD -
(3) Vasectomy

(4) Surrogacy -
D0 28 HISdd8 Hdodod

Contraception

Genetic disorders

Female contraception
Carries embryo of others

(1) ooydsd 20§ - adgs'dren
2). 1UD, - ﬁq} R8'Go
(3) 3aghs - & S ) 980
(4) H6'h - 3688 Doard) Hyf Bobdo
Match the following
List-1 List-II
(A) Phototaxis (I) Bird migration
(B) Photokinesis (II) Euglena
(C) Photoperiodism (TIT) Bending of plant
(D) Phototropism (IV) Daphnia

Sob T80 udddvod
der - |

508 wdhdudo
508 wdoiddo
5708 5erdd
5708 ®03dN0

(A)
(B)
©)
(D)

The correct answer is
PBGLS JSrgrSin

(1) A-LB-ILC-IV,.D-V
(3) A-ILB-V,CJ, DI

(V) Larva of Pinnotheres

zde -1
() Hpoos® Sebd
M) o
() 320§, Sorko
(IV) aair
(V) 55068 erog

*2) A-LB-V,CHILD-I

@)  A-ILB-IV,C-V,D-II

Midnight blood samples are taken to confirm this infection

(I) Malaria (2) Gonorrhoea

(3) Diarrhoea (4h  Filaria

& T50 Al 8 Sdorard efor@ b DG

(1) SSocsr (2) K3bosr

8-A

(3) “choosr (4) »Boosr
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20.

21.

22

GS-1 Booklet Code | A

Number of ribs in man

(1) 7 pairs (2) 9 pairs (3) 10 pairs (4) 12 pairs
SRSt Diyse Jompyg
(1) 7ades (2) 9 aden (3) 10 a8 4) 12 28

‘BREXIT" is the withdrawal of the United Kingdom from the European Union. Regarding
this choose the correct statements from the following

(a) The referendum was held in Junc 2016

(b) Atthe time of BREXIT referendum the Prime Minister of Britain is David Cameron

(c) Theresa May is the new Prime Minister of Britain
(d) Boris Johnson campaigned for BREXIT

BREXIT ©3m chr6*hois ohrdodd $od s Idodido ords Sowodod 20N
FEgnen oo Bosansw.

(a) & OFvodo a~S 2016 &° Jdgirosadod

(b) BEES P 0500EMH A0S HH0H0S" OLS S D08 A8 TS

(€) LS &8 Be7s 0@ Fodr B

(d) BESH wHsroor Hardo BISTE S00 R0

(1) ab&e 2) b,c,&d (3) ac&d (4) ab,c&d

Choose the correct statements about the “Pradhanamanthri Jan Dhan Yojana™
(&) Ttwas launched on 28" Aug 2014

#b) Itisaimed to provide bank accounts, insurance and debit card to all the citizens of Indie

M Ministry of finance is the incharge of the scheme
(d) It grants loans to the businessmen

‘B So® 2535 Ares”h, Sopood $P8 TEENneT JodE Bokodn
(a) =6 28 ey 2014 &° (@Sododedod
(b) =B w768 Fdeolds wgok praete, Q3708 Soboin B3O8 sheo adgE s
GGodndod
(c) @B So@dg T b8 wrge Sirdgod
(d) =8 syrhofH avwre Hoxmd Bi0d
A) ab&e 2) b,c,&d (3) acé&d (4) ab,c&d
9-A
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23. Sukanya Samriddhi Account is a scheme having which of the following
&) To promote the welfare of the girl child
(b) A minimum depositis Rs. 10,000

(e) A savings account can be opened by the parent or legal guardian of a girl child less
than 10 years
#4d) The intrest that is provided on the deposited amount is tax free

Dby S0y PrEr HELoS® & (fod wodsnodt A HITeW

(@ =8 zd¥o JosHdndt GPsosadod

(b) BS* £J%o 10,000 A= Bosrd

©) & FEH ped 10 SoSdresty Sobd SORS rdE Gnl), EdEoEEs M
S08ERE R 8IH3TY

(d) & 8¢ 2 38 568 550) NIFa00H H0é0d

(1) abé&e (2) b,c,&d (3) a,cé&d (4) ab,c&d
24. Match the welfare plans of the state government with their objectives
(A) N.T.R.Bharosa () Toenhance production in the state
(B) Mee intiki - Mee Bhumi AII) Torectify the land registration problems
(C) Annasanjeevani (III) Pension scheme
(D) MadeinAP (IV) To distribute generic medicines
oS weddg H080 Hstos ¢S e.:g‘g_ﬂﬁ' zd38%0d
(A) NTR g6 (D) o@os* sdydhen Doudo
(B) & x0838 - & grad () gordoe d2RAs didgen Sotosdo
(C) o) $o2Sd (M) &S S0
(D) MadeinA.P. (IV) 2565 Hoche Hohed
The correct answer is
$0G08 HIrErSEn
& A-1ILB-NILC-ILD-IV (29 A-NLB-ILC-IV,D-I
3) A-IV,B-1,C-I,D-III 4) A-LB-IV.C-IILD-II

25. National mesosphere/Stratosphere/Troposphere Radar facility is located at

(1) Rajendra Nagar - Hyderabad (2) - Gadanki -Tirupathi

3) Bhimili - Visakhapatnam (4) Amaravathi- Vijayawada

2805 MIVYOHE/ T DT FRNE oarb HHIS & §od Dywod® &od
(1) oBogsns - wriowrs (2) mdod - 8&58

(3) H20 - depdino (4) o058 - duchad

10-A
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21

28.

29.

30.

GS-1

Worlds longest train tunnel route is in
(1) Switzerland  (2) Spain

(I) %guob (2) “yoR

Match the following

(a) Dr.Arvind Subramanyan

(b) Justice. Manjunadha

(¢) LV.R.KrishnaRao

(d) Justice. Rajendra Mal Lodha

2830808

(a) @ ©8d0& dopir)ege
(b) =Qe. Dowdd

(c) LVR.grod

(d) 238 oo S ST
The correct answer is

$BG0S HSErSS0

(1) a-(i),b- (i), c- (i), d - (iv)
(3) - (i), b- (iv), ¢ - (1), d - (ii)

(3) Japan
Hoods B8 FEIS Bew Fdof Srdin fe Tio

(3)

(i)

)
Hi)
(iv)
(1)

(if)
(iii)
(iv)

(2)

B

Booklet Code A

(4) China

(4) 8+

Brahmana welfare corporation
Reforms in BCCI

Tax rates under GST

Reservation for Kapu community

e S08SH Y0NS
BCCI &* 0, Geoen
GST 585¢° 5 Béx

5°%) 020raS

a- (iv), b - (i), ¢ - (ii), d - (i)
@) a-(i),b-(iv), - (i), d - (ii)

The tiger reserve received “The biodiversity award 2016™ is

(1) Sunderbans  (2) Annamalai

(3)

Bandipur

“a@ras0y8 - 2016” va§ wokhEs) Heo SoEe Sogo

(1) Sod6e§ (2) s

3)

wod&rs

“Children Film Society of India” present chairperson is

(1) Amol Guptha
(3) Mukesh Khanna

(2)
(%)

Raj Babbar
Ambika Soni

“rBaH oo Fos AF HodD” Bd 36 H§S

(1) o3-S (2) o0& wxyb

(3)

S8% )

The President of the International Olympic Committee

(1) Wander li cardiro Di Lima
{3) Michel Felps

©0dur8oh o0l S8 wEgid
(1) &0db & 56" & O

(3) S PEy)

(2)
(4)

(2)
(4)

11-A

Thomas Bach
Auntoni Irvin

TR o§
505 200

(4) Pakke

(4) 53,

(4) wods ¥
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31,

32

33.

GS-1 Booklet Code A

India and China on 15" May 2015 signed 24 agreements. Choose the correct statements
from the following

(a) Ttisakey drive of Indian foreign policy with China
(b) Itissigned by Rajnath Sing and Likegiang
(¢) Ahotline between the two army head quarters would be established

Ad)  The two sides would engage in peaceful use of nuclear energy

roEddo, Baren 201530 158 24 edyomre  Sod¥o Bavow. & (508 T8 Sood JBS
FEgS0e0 Jobh¥ Dok

() Baord 268 DBTof DFSos® ad §08s wdibd

(b) @ 2 vdard Dok, P8dgcinofien Sodso Bad

(c) Bod dwre wb) 8 s1EE) S¢g wf FEBS ot Bk,

(d) Qoo dgrew ®ddd To8dnd ParaTos Td0troN

(I) a,b&c (2) b,c, &d (3) a,cé&d (4) a,b,c&d

The new anti-biotic that invented to treat tuberculosis is

(1) Streptomycin (2) Teixobactin (3) Rifampicin (4) Ciprofloxacin
Soh TgHY IEEYITAE KRS $rd airoBwasoids

(1) RADDS (2) 88yerssS (3) Barobds (4) D@rTsys

‘The following scientists got Nobel prize in chemistry in the year 2015 for their work on

DNA repair

(1) Eric Betzig, Stephan, W.Hell, William.E. Moemer
(2) William.C. Campbell, Satoshi omura, Youyouto
(3) Thomas Lindahl, Paul Modrich, Aziz sancar

(4) TakaakiKajita, Arthur .B. Mec Donald, Eric Batzig

DNA 8063 wggahso @b 2015 &* Sarahsd a@od* §BS (28 068 3dgw
(1) DBE BETAR, H»S dop. w8, DN 2 IS

(2) D90 D 57oRBS, I8 adTr, dincinds

(3) TR domd, rdndy, vad rosd

(4) L8 gab, ugf 0. DEESEG, 0§ BESER

12-A
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34.

35.

36.

37.

GS-1 Booklet Code A

New Prime Minister of “Nepal” is

(1) KPOl (2) PK.Dhahal
(3) KR Regmi (4) B.BattaRai
I>S Fd Herd Hood

(1) 33 £0 (2) 53 TH&
(3) 3.ub.0ny (4) . Fipoa®

The woman Athlet to receive the first Gold Medal in Rio-olympics of 2016 is

(1) Virginia Thrasher - USA (2) E-Si-Ling-China
(3) Katinka Hosaju - Hungary (4) Ishi-wen - China
2016 83 200DES* &0 womd H880 FHodS §as 06

(1) 36908 (@46 - wdods® (2) 2-2-90f - 3o
(3) 8805 Fder - FoNd (4) 2%-33 - 37

The Indian media frequently used the following word to describe the paramilitary forces
actions against naxalites

(1) SalwaJudum (2) Green Hunt

(3) Green Search (4) Civilwar

S§BLaty Sg@0kor rordobd Seven BIGS Sogod Bodmds grd8od Dodasr
6T $HRrAoB DKo

(1) Sogardoo (2) BS ol

(3) Ba b (4) 235 &6

Arrange the following states in descending order in sharing the volume of Cauvery river water

a) Kamataka b) Tamilnadu

¢) Kerala d) Pondichery

550 $6 more HodE $0Srm FSood’ & §od TrEresh S8 e 00" elaisn
a) Sgbs b) dddado

c) B6¢ d) FodHo

(1) bad&c (2) ac,b&d

(3)r a,b,c&d (4) ba,c&d

13-A
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38.

39,

40.

GS-1 Booklet Code A

Select the correct statements from the following

a) NSG is a group of 48 countries

b) Indiaisamember of NSG

¢)  The present chairman of the NSG is Mr.Song Youngwan
d) Itcontributes to the non-proliferation of nuclear weapons

& Bod aiwds T8S* S arsgEnod HBoREn

(a) e 20¢d 65T wyodo (NSG) &° 48 Sefgdeen Gamow
(b) =rd8ddo s aodd HEHT Wkod® SegdFo

(c) NSG P8 egggod rofi ol o8

(d) =8 oayd a5l ICEEE §65 3 D508

(1) a,bé&ec (2) b,c&d

(3) a,céd (4) ab&d

Through the vedio conference from different places, the following leaders dedicated the
Kudamkulam Atomic Power Plant to the nation

(1) Modi, Jayalalitha, Putin (2) Modi, Jayalalitha, Obama

(3) PranabMukarjee, Modi, Jayalalitha  (4) Modi, Rosaiah, Jayalalitha

DG |rosre Hod 5&:&:-5*5335& T Srdofogo wendigs Sord) =88 woldo
Bos arohen

(1) 38, acheds, HBS (2) 38, 20Hodd, Lorse

(3) B0 Sopf, I8, acHods (4) 3rd, Sohg, BaHOOS

First time woman combat pilots were inducted in the Indian Air force. They are
(1) Sarala Thakral, Mohana Sing and Supriya Sahu

(2) Mohana Sing, Bhavan Kanth and Avani Chaturvadi

(3) Bhavankanth, C.B. Muttammaand Arathi Sahu

(4) Avani Chaturvedi, Mohana Sing and Sarala Thakral

PrG8 T050 DIS* Bwd) F0GE O Sowrd Hirer Doy FHHRoTH. T
(1) H6e 58, 3 Dol BBk S v

(2) 3r&a Hof, grdd sod Db Bdd ﬁéo‘éogf::

(3) wrdo 5708, C.B. S8l Hdosn 68 v

(4) ©50 $&80, drda Dofi Hddsn He S5

14-A
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41.

42.

43.

GS-1 Booklet Code A

APJ. Abdul Kalam Amrut Yojana refers to

(1) A scheme to develop smart cities

(2) Supplying computers for all

(3] Providing cooked meal to pregnant and lactating women once in a day in tribal areas
(4) Supplying milk for rural and urban arcas

APJ w2pd& i wing Grad H¢so 3o

(1) &8 »io 0B S¢80

(2) w@oldE Soxrgtady wobood

(3) w2830 daS roeos™ KOy Ege.:lﬁa So8050 IO e S0 Lo
woloth HP¥o

(4) rdom So0ckn Hige rod o e voboid HEE0

International Fleet Review (IFR) 2016 is hosted by Indian Navy and conducted in
Visakhapatnam. Regarding IFR choose the right statements.

a)  Themain objective is to exhibit our naval strength to the world

b)  Atotal of 95 Warships from 51 navies participated in IFR 2016

¢) 71 war ships from Indian Navy participated in the review

d) INS VIRAT and INS Vikramaditya were participated in the closing exercise

wodg 8ok asng I'E0 580 (IFR) 2016 % grdd 95" §¢0 dep S4e06* AGLroN0B.
0% Ho0dodd PISTos® F95 38 IFod

(@) & SN HES $P¥g0 HIS TIs &¢ B BT HEGHovEe

(b) 68° 51 Bre TI5° Serold BodS 95 ding T G amow

(c) &S rédads Seed8 BodS 71 oing F¥ew e oo

(d) Sonod dogred’ rds >Is 698 Bodd INS o INS JESrBdgen dreTamon

(1) ab&ec (2) be&d (3) acé&d ) abe&d

Burhan Wani belongs to the following terrorist group

(1) Laskar-e-Taiba (2) Hizbul Mujahiddin
(3) Al-Qaeda (4) Islamic State

20078 32 & 8o Giad S0t BodbSardo

(1) ofb-J-&cner (2) r&end SpEirdS
(3) usgw (4) arns RS

15-A
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44,

43.

46.

47,

GS-1 Booklet Code A

Identify the port which plays a significant role in China-Pakistan Economic Corridor

(1) Kandla (2} Gwadar (3) Chabahar (4) Hambanthota
B >BS &8 Sdar (Economic Corridor) &° 35S @ adysd) 33 déeo
(1) sow (2) s (3) o6 (4) Sowad's

The host city for G20 summit - 2016
(1)/ Shanghai (2) Hangzhou (3) Nanjing (4) Beijing
G20 - Bero 3poryl Sdrddo 20165 e@Fgo adyd dieo

(1) o (2) Seofies (3) aozof (4) H=ohR
Match the following

List-1 List-1I
(A) Copper () Ramagiri
(B) Iron (I Digboi
(C) Gold dll) Khetri
(D) Petroleum {IV) Kudremukh
addddodn
e - | =de - I
(A) oa @ oond
(B) adw () &ReroSH
(©) womso ) e
(D) »*@oko V) $o@s0F
The correct answer is

SOGS SErGrSED

(1) .(A)- (1), (B)- (D), (C) - (IV), (D) - (1)
(2) (A)-(V),(B)- (1), (C) - (IT), (D) - (T)
€3) (A)- (D), (B)-(V),(C)-(1), (D) - ()
(4) (A)-(I),(B)-(1V),(C)- (D), @)-{0)

The region between the Tropic of Cancer and Tropic of Capricorn is

(1) Temperate zone (2) Polarzone

(3) Torrid zone (4) Tundrazone
86,8 B, $o8Y B gy o |@rodo

(1) 550885 Hosoo 2) & Sodeo
(3) edogy Soodeo (4) Lo oodeo
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48.

49.

50.

Match the following:
List-1

(A) Kandla

(B) Chennai

(C) Mumbai

(D) Kolkata

256 S50

e - |

(A) so@

(B) 33

(C) Smomomw

(D) E'dss

The correct answer is

BOGHS JdrErdsn

(1) A-ILB-IV,C-LD-II
(3 A-ILB-LC-IV,D-III

GS-1

List-1I

TF) Biggestport
(I) Riverine port
1) Tidal port

(IV) Artificial port

e -]

) w8 4809
) 56 wgros 643
() BaS L4683

(IV) EQLEI;&) 5,409

(2) A-IV,B-1II,C-II,D-I
(4) A-I,B-IV,C-I,D-II

From the following, Identify the wrong statements
(a) Census data is collected every 10 years

(b) Sex ratio refers to the number of female in adult population
(c) InlIndia, the first census was taken in the year 1872

(d) Population density is higher in the mountains as people like the climate there
Bod 8S* &y Trgsgodd HBowtsw

(a) B8 56 SoSdyrot aaer s BHEeD
(b) =z’ g THS' sdard) Sopgso o And 8Oc%E00
() rddd§0S* nsBTrom oy fod 1872 &° =0/0d

(d) Fod @roerod'd Tedderd) Puen agdded s oHd adrodd JEyI
(2) bé&d

(1) a&e

3) b&e

‘ElNino’ is caused by the change of temperature in this ocean

(1) Indian ocean

(2) Atlanticocean (3) Pacific ocean (4) Arctic ocean

& 25 330EoS*D GSe Boro S0l EIST” IGyd&ed

(1) rodr 3¢ dSmdo

(3) “0HE Hoik HS0Go

(2) eurod§ Kbt SSugo
(4) o585 3¢ Sdodo

Booklet Code

4) a&d
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3L

52

33

GS-1 Booklet Code |

Assertion (A): The central part of the Deccan Plateau receives less rainfall.
Reason (R):  The windward sides of mountain ranges receive heavy rainfall.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both(A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

@BXES (A) : a8 RTGTA NN .‘5.)-'.'.5-3 griod’ 5@1&60 &80,

sdeesin (R) :ddiardd SSaPdngp H¥S* (windward side) Sdardo IS
(1) (A) 0050 (R) o0 Bodkr 25y 58w (A) 8 (R) 838 dde

(2) (A) S00sn (R) oo Bodhr 2:iy, Sbain (A) & (R) S38 2568 56
(3) (A) 2y =2 (R) 82y

4) (A) &3y 5 (R) 2.y

Among the following, choose the correct pair of river and its tributary.

(1) Ganga-Damodar (2) Indus-Yamuna
(3) Godavari - Tungabhadra 84y Mahanadi - Sabari
E0B TS, $B-&B5B @0k, H0Dod ot IS o
(1) ol - »IrEE (2) oo - d%50d
(3) &6 - doRHd (4) 50556 - $0b
Match the following

List-1I List - II
(A) Shale (i) Quartzite
(B) Limestone (ii) Diamond
(C) Coal . Jiii) Slate
(D) Sandstone (iv) Marble
2ddddsn

e -] ade -1
(A) s (i) sxoas
(B) Hod)Horon (i) Sz
C) & (iii) ¢
(D) adoscon (iv) aroorow
The correct answer is

OGS HIFGPSE
(1) A-(iv), B-(iii), C-(i1), D - (i) (2) A-(),B-@v),C-(i),D-()
(3) A-(iii), B- (iv), C-(i), D - (ii) (4) A-(iv), B-(iii), C - (i), D - (i)
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54.

53.

56.

57.

GS-1 Booklet Code A

From the following, choose the wrong statement

(1) Korangi in East Godavari district is famous for mangroves®

(2) Alpine vegetation is found in Himalayas

(3) Teak is grown in evergreen forests

(4) ‘Protected’ forests could be used by people

Bod T8S” Sdym P PSITQ) MHYosod

(1) &rdyy Forkd 2ard™ §%0A edden Db ebdyosh Do
(2) ©8)S SEroo rirodrof D03

(3) % $88 Frdd elmrgos’ D&

(4) ‘088 wdhos Hueo IARrA0NE DS

The information about endangered species of animals is present in

(1) Black list (2) Green list (3) Redlist (4) Yellow list
©0$B0ONH) 208 F&0 JdrmdSnd BdoHBEWENIO

(1) =58y (2) S 0y (3) ©°é o3 (4) 2 09

Assertion (A): Agricultural experts estimate that India loses more than 5 billion tonnes

of soil through soil erosion every year.
Reason(R):  The Adivasis must be educated to practice ‘Podu’ to control soil erosion.

(1) Both(A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

B8ZES (A): Sgdrch Yo wosT P5do o B8 Sosdldo 5 DI
L&y o I8S Jod Jos'd oo S'FEed

s8dn (R): Job'ddh vdshmds bt Wb’ Sgirabo T ddom eSmas §d)owd

(1) (A) 0605 (R) 00 Bods .8y 590050 (A) § (R) 35 256w

(2) (A) $o8c%o (R) &0 Bodr 23y 50 (A) 8 (R) ¥38 dI6e 520

(3) (&) sy 0 (R) 83

(4) (A) &5y 5@ (R) 22y

Among the following, which pair of railway zones and their Headquarters is not correct?

) South Central - Hyderabad ~(2) Eastern - Kolkata
(3) East Coast - Bhuvaneswar (4) Southern - Chennai

Bod T8 Sdyr ad Bohadd 38g doderen Hobokn T8 B Sopen
(1) &8 Sogg - Tdoers (2) &r&y - 58S
(3) &rtoy Y - SI%E (4) o - Y
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58.

59.

60.

6l.

62.

GS-1 Booklet Code

According 1o 2011 census, the highest decadal growth rate of population is in

A

Uttar pradesh ~ (2) Bihar (3) Meghalaya (4) West Bengal

2011 zarer B0 B5do STy oEghs aam e S)B Olod SOAID

(1) &gs $8%F  (2) D6 (3) Sodrech (4) 33 BorS

Santhal tribe people live in these states

(1) AndhraPradesh, Tamil Nadu, Kerala (2) Uttar Pradesh, Rajasthan, Madhya Pradesh

(3) Jharkhand, West Bengal, Odisha (4) Maharashtra, Kamataka, Gujarat
Soqrd 8 Puen & U‘*@;ﬂ@‘ ARV

(1) sogHat, dodard, S6¢ (2) &4UHAT, TaFs, DEHHIT

(3) a‘rgoﬁ, SfBorrd, 20 (4) éaﬁ*m@, gobas, ihaod

This industry manufactures telephones, computgrs and mobile phones

(1) Automobile ) Electronic

(3) Information technology (4) Electric

Bod H0ES BOFDR, Sodrgty HBckn InBE FFoH Saird BR300
(1) s&'308S (2) Qo8

(3) “Srwrd ossYS (4) Ddogd

The neolithic site that was first noticed in India

(1) Lingsugar (2) Chirand (3) Mechragarh (4) Kaddihwa
PEE0FS0e” Indem HBoBGS S5 Ferasnd él;;’:ﬁ;ﬁn

(1) Qo o  (2) Dorol (3) oG K6 (4) @

Match the following

(Harappan site) (Discovered by)

A) Harappa -I)  R.D.Benerjee

B) Mohenjodaro I M.G Majundar

C) Chanhudaro ) SR.Rao
- D) Lothal IV) Dayaram Sahani

Eod T wEHGBE0

Troary rodo S Hady

A) FEay ) o6& 85§

B) 3ndroFed ) ochHhd.a Serodd

C) u&od’ ) ocHB.esb. oo

D) &'zd IV) &Soiroro 55

The correct answer 18
DBGHN DITFTIS0

(1) A-LB-IILC-ILD-IV <2) A-LB-ILC-ILD-IV
3) A-IV,B-I,C-II,D-II (4) A-IV,B-IL,C-III,D-I
20-A
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63. ‘Milinda-Panha’ was written by
(1) Nagascna'
(3) BuddhaGhosha
‘WSS 1TRSs
(1) ook

(3) =0g P

GS-1 Booklet' Code

(2) Nagarjuna
(4 AswaGhosha

(2) Tmidd
(4) ody S5

64. The military department under Vijayanagar is named as

(1) Athavana (2) Kandachara
(3) Dandavinita (4) Mansabdari
Dzcidnd sodn T8 VI FoT T cwer dendaddod
(1) s (2) Eoorard
(3) doddng (4) So&dod
65. Match the following:
(A) Mathura Vijayam t[) Gangamba
(B) AitareyaDipika (If) Vidyaranya
(C) Jambavati Parinayam- (IlI) KrishnaDevaRaya
(D) Varadambika Parinayam (IV) Tirumalamba
Eob D BESEIHIN
(A) Sodooe dacho (I) Horrow
(B) =& &2 () dorg¥eg
(C) =ronsd HoecHo @) & dsoas
(D) S6erods=Hbeecio IV) @ddoeron

The correct answer is

HOE0S SirerSsn

() A-LB-I,C-UI,D-IV
Gy A-ILB-1V,C-1,D-II

(2) A-ILB-ILC-IV,D-I

(4) A-IV,B-I,C-I,D-II

66. Mahendravarman I was conquered by Pulikesin I in the battle at

(1) Vatapi (2) Kolleru

(3) Pullalur (4) Aihole

Bods HTEF I3 Harol Sy 2owodS chogn BOAS @roddn

(1) e (2) §8&%

(3) Hoeors (4) =289

21-A
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GS-1 Booklet Code

67. The following literary work is not written by Kalidasa

(1 Meghasandesam (2) Raghuvamsam
(3) Vikramorvasiyam (4) Naganandam
& 1§ob TAS° I (@ah (logo

(1) oo Hoddo (2) dHwdodo
(3) AEIrdeecho (4) &redobo

68. Matchthe following

(A) Brahma Samaj (I) Service to mankind
(B) AryaSamaj (II) Monotheism

(C) Theosophical Society (1) Back to Vedas

(D) Ramakrishna Mission (IV) Universal fraternity
0d T 2EHERw

(A) iy ddrz0 (D) 3085 28

(B) w&g dirzo () 984G 243

(C) odgd Sdrao (Il) 3oro% $8O&Fod
(D) odogyy aS (IV) Dy 588 Argraydgo

The correct answer is
D08 Hrerddn
(1) A-ILB-IV,.C-LD-II (2) A-LB-ILC-ILD-IV
() A-ILB-IULC-IV,D-I (4) A-ILB-LC-IL,D-IV

169 Namethe founder of Amrith Bazar Pathrika

(1) Sisir Kumar Ghosh ' (2) RajaRam MohanRoy

(3) Harish Chandra Mukherjee (4) Surendranath Benerjee
osoy8 werb HBE FHKR oY o0

(1) 226%5r6 550 (2) oarord AriraTod

(3) SrdaKos Somf (4) Sododard BSY

22-A
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70.

&

72.

13,

GS-1 Booklet Code

Find out the wrong pair in the following

(1) The Rehnumai Mazdayasan Sabha - Parsis

(2) AkaliMovement - Tamilians

£3) Aligarh school - Muslims

&) AryaSamaj - Hindus

8ol TAS" Sy wdH0AS6 KPS

(1) Bdvydoon Sepasrds 3¢ - Pheo (2) @57 Gdghdn - Edhen
(3) ©dE dm & - Sodoen (4) wdg Sdrz0 - rodhhwn

Alluri Sita Rama Raju was killed by the British at

(1) Nadimpalli (2) Madderu

(3) Koyyur (4) Krishna Devi Peta
word derdhore HE% T08 M d Sodwmd

(1) Sd03Q (2) g6

(3) Sohrgt (4) &% 32 b

Gandhi’s book ‘Sarvodaya’ written in Gujarathi is the translation of

(1) Bhagavadgita (2) LightofAsia
(3) Bible (4) Untothe Last
mob HeT8S* (RS e EH’ o HI¥o S8 wdEsn
(1) eisbe 2) BE 5 ot
(3) 05 (4) w5 8 o

Arrange the following events in the correct chronological order

(A)  Dandi March (B) Lahore Congress

(C) Second Round Table Conference (D) Simon Commission’s V.
1508 2:cabd SonbIom 90 @ons s'erm@a’mﬁﬁe"@md;)ma

(A) &od oS (B) &r&*5 sops
(C) Bods To& Bewd dsrdvo (D) %S SIS SosEs
() B-C-A-D (2) D-B-A-C
3) C-D-B-A @4 A-C-D-B

23-A
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74.

.

76.

ks

GS-1 Booklet Code | A

Mention the new name of Justice Party

(1) Revolutionary Party (2) Congress Socialist Party
(3) Radical Democratic Party (4) DravidaKazhagam

2% 0 Bof, SrdS Do

(1) 8dergand > (2) so@d F20F >

(3) 0386 BIrEBE B (4) 824 gatio

Which one of the following statements is not applicable to A.P.J. Abdul Kalam?

(1) Jainulabdinand Asiamma are parents of Kalam

(2) Kalam became ChiefExecutive of Integrated Guided Missile Development Programme
(3) Kalam was 10" President of India

(4) Kalam developed Tablet PC

Bod aEgod® ).5.8 wnd Sorokh Bodd IB?

(1) ;E;E-’DEJ%-S Soboin ehobdy) Soro dddooen

(2) Eero 208{BE ABE WS E50HI0l Mo PEFS sTEAETE 050
(3) erdsBr8 Sero HGS wights

(4) Soro &rBE DB, SoirHTIRD

Gandhiji described the proposals of one of the following as, “Post dated cheque drawn on
the crashing Bank”

(1) Cripps Mission (2) Cabinet Mission

(3) Wavell Plan (4) Linlithgow proposals

2 PE>GIR “Dare 839¥) wrgosip PIAgS 808" aiyd Bgy,m” modemdd TY?
(1) &5 ooberdo (2) gD 4S8

(3) 336 Beods (4) SIS HeFGS

"The Writ issued to oust an ineligible person from any public office is

(1) Quo-warranto (2) Prohibition (3) Certiorari (4) Mandamus
2.8 |Hehds HE Sood od6 33 Sg89 SofoBoth% ridohud 88

(1) &-o00&5" (2) | &Fordas (3) woErEd (4) SroddHd
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8.

79.

80.

GS-1 Booklet Code | A

Which one of the Directive Principles that was NOT incorporated by 42" Constitutional
Amendment Act?

(1) Equal justice and free legal aid
(2) Participation of workers in management of Industries

(3) Safeguarding of forests and wildlife
(4) Prohibition of slaughter of cows

Bod T&S® 42 % oargoll dHdes WRo T FoHDIBRE BBFSrEo J6?
(1) 2&rs o500 HBodn GUd Fgodh JTaho

(2) 500 s’ 570 e rIE0

(3) wddHe Dbddn SSgraoe Hodgm

(4) A8 Jabosdo

Jawaharlal Nehru was administered Oath of Office as the first Prime Minister of
Independent India by

(1) C.Rajagopalachari (2) BabuRajendra Prasad

(3) Lord Mountbatten (4) S.Radhakrishnan

Sedold rosid Indd PErddo@m sSirbord I BE (Hire deso BowodIH
(1) ». ocaffrowd (2) erew oBHoBRFE

(3) o) SFoderds (4) oRd. oERS

The Elected Members of the Legislative Assemblies of which Union Territories have right
to vote in the election of President of India are

(1) Puducherry and Chandigarh (2) Delhi and Puducherry

(3) Delhi and Chandigarh (4) Delhi and Andaman Nicobar

2 B0 oS Fosok Bodd IVES ITIIY Dby S TEBS IS bk
8% KOR Hotrda?

(1) DB B0cw» Sobinb (2) 88 ssdchy HHBP

(3) 8 Sobasw Hobis (4) Bd 560w woSrS IS
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The Vice-President of India will not get a chance to act as the President of India in this
context

{¥) When vacancy arises due to the impeachment of the President

(2) When vacancy arises due to the death of the President

(3) When vacancy arises due to the expiry of the term of the President
(4) When vacancy arises due to the resignation of the President

Bod ad)d D Sostos’ GSogH8s, oPIam SSi0on vIEFTo Hod?
(1) ogs8n HT*HRr Somdo oo Sohodd s*eworr g A6BIByL0
(2) Tgs8 So6mod* b IGASHE

(3) 0§58 56dTwo drgans Somom b DEBSHE

(4) ogse ocdadr sdwor 7 GBIHE

Which of the following states have the equal representation in Lok Sabha?

(1) Haryana, Punjab* ‘ (2) Kerala, Odisha
(3) Assam, Jharkhand (4) Bihar, Tamil Nadu
2 8B Bod Trred SESS” SSrS FBIGrG 04 HIron
(1) Fogar, domd (2) So¢, wéar

(3) &dmo, a'gns 4) 5%, dndardo

The article in which “Prohibition of Untouchability” is incorporated
(1) Article 14 (2) Article 16 (3) Article 17 (4) Article 19

“wotiTrREs0 Ao BI VoSS LOAD P 82
(1) 145 @860 (2) 163 @86 (3) 175 @86 (4) 195 86

The High Courts of Bombay, Calcutta and Madras were established in the year
wod, ol SHbchy Sk TG D&J&:ﬁ BoSdo A8?
(I) 1866 (2) 1864 (3) 1862 (4) 1869

What is the strength of the Legislative Council of Jammu & Kashmir
BT &—?&&5 S SO dopg Jog?

(1) 39 2) 34 (3) 37 @) 36
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Identify the non-constitutional body (bodies) given below?

_l(l(f NITI Aayog (B) National Development Council
(C) National Integration Council .(.E!)/ Inter-State Council

Bod T8’ Trargoidd SoPd (Sogoss) Hifoyio

(A) N8 s&@rh (B) =bodb wdS)R Hodd

(C) =récsh ddopise S008O (D) ﬁoéﬁ-m@ H008d

(1) A&C (7 A&D

(3) A,B&C (4) A,B,C&D

The Indian Federalism is described as ‘Cooperative Federalism’ by

(1) Morris Jones (2) IvorJennings
(3) K.C.Wheare (4) G Austin
68 Sdrpgd “dITE6 DErpgT” HPODNE IHE?

(1) S008 &) (2) =236 BYQoh)
(3) 5.5 36 (4) = e

Ward Committees must be constituted in the Municipalities having a population of

(1) 3lakhs orlabmre (2) 2lakhs orabove

(3) 5 lakhsorabove (4) 10 lakhs or above

HoFoE Hodreod ol Shdod E5HIS6M Joyen VoL Goddods aver
Bopy Jod?

(1) 3 vfen B ®od% od (2) 2 ofw o wodh oo

(3) 5ofw So ©o85 Nod (4) 10 vfen Sor vod% dood

The Central Administrative Lribunal was formed on

ol B0l BagdS I6ES 887

(1) 2-10-1983 (2) 2-10-1984
(3) 2-10-1985 (4) 2-10-1986

27-A


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

GS-1

Booklet Code

90. The objective of setting up of Central Vigilance Commission in India is

91.

(1) tocheckinflation
_/(}T to prevent corruption
(3) toprevent smuggling activities

(4) toprevent black money

FEEBFoS* Toig D2BY) E1AS Jomytn BobErdS o Swpg $Jigo Hdo?

(1) @S5y dabo@okhi

(2) ©2583 dErYPOHL

(3) %ol sEgErFos: 6 GoHe
(4) Sesad) o

Assertion (A): The Union Government introduced Accelerated Irrigation Benefit Scheme

(AIBP) in 1996-97

Reason (R):  The Union Government strives to provide additional assistance to the states
for the speedy completion of selected large irrigation and multi purpose

projects
(1) (A)is correct, (R) is wrong
(2) (R)iscorrect and (A) is wrong
(3) Both(A)and(R) are wrong
(4 Both (A)and (R) are correct

B8ES (A): S0l Wehessin 1996-97 &° w)edBE 2EARS BIDE &y, (AIBP)

B3Tngod

séoidn (R) 1 Sod Hehdgn Jobs Bad g di-rdade, afowry Earad @aEgos
goorr g BRohH Trod edsY SHaEry) vodoBodht Hi

83308
(1) (A)=dy, (R) 85y
(3) (A), (R)Bodr 853
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Match the following
Schemes

(A) LADL

(B) MNP
(C) IRDP
(D) PMGS.Y

228 H 880

SPED0

(A) LADP

(B) MN.P.\_

(C) IRDP. {

(D) PM.GS.Y-

The correct answer is

D0GHN DSrgrdsw

(1) A-LB-IILC-I,D-IV
(3) A-IV,B-III,C-I,D-I

GS-1

Plans

(I)  Sixthplan
() Third plan
(IIX) Ninth plan
(IV) Fifthplan

wer 98

) e6d PHeo-®8
() Sordd HerPd
dll) §2085 Wer®s
IV) 2635 D%

(2) A-ULB-ILC-IV,D-I
(4) A-ILB-IV,C-L,D-II

The growth rate achieved by the Indian economy during the Eleventh Plan is
HUE0BS HowSE Herds ST’ erdd Q¥ a’)g;'ig FHONS DY Gén

(1) 5.5%

(3" 1.5%

(2) 65%
(4) 70%

Ofthe following, identify the components of “Rainbow Revolution™ in India

(a) GreenRevolution
(c). White Revolution

(b) Silver Revolution
(d) Blue Revolution

& 808 TS FOEBISNS' “DowS 5% DHIZ0G® riSowSD ID?

(a) S8 29550
(c) & DHSd

(I) aé&b
(3) c&d

(b) Sexs dHddn
(d) - 59 25550
(2) ab&ec

@J a,c&d
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Schedule ‘B’ of new classification of Industrial Policy Resolution 1956 of India comprised
(1) 8Industries (2) 10 Industries
(3) 11 Industries (4) 12 Industries

o8 (Hebds B DE DIrd BomSSn 1956 6°9 wdrgd B’ &' Dogve §8 SPECS™A
SpFde Doy

(1) 8 3BFSoen (2) 10 SoFdoen

(3) 11 SpEsoen (4) 12 SpFoen

The ‘Head Count® method is used to estimate

(1) Population (2) Poverty

(3) Price rise (4) Unemployment

‘Sooo 88,089 ITad) Bo8 DO LES AN Foohbl GHREIFH
(1) saer (2) HEpES™

(3) &de ndabde (4) d&ghd

One of the following pairs is not correct in regard to taxes of Union Government
(a) Customs duties and Estate duty

(b) Taxes on goods and passengers through Rail. Air and water ways transport
(¢) Toll gate tax and tax on mineral rights

(d) Tax on intoxicants and entertainment

SoiHehds S Dhchins” & §od Hined ErdS SSnmrabin B8 eondd
(a) 8§35y Soosren Ho0aIN IPE osn

(b) Bew, arcin, 2o Sroo oot St W SgPen Poirshun 38y

(c) &'Ehidn 58y Bokn Pl Ty Dy

(@) D& dorgon S8 Hdoh ISEY Sy

The correct answer is

OGN Hdreridn

(1) c&d 2) bé&e
(3) d&a 4 b&d
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The only two arcas reserved for public sector under the Tndustrial policy of the goverment
arc at present

(1) Aircraft and Coal (2) Coal and Airways

(3) Steel and Petroleum (4) Atomic Energy and Railway Transport
W08 (HeHd] FOFNE IFdSn (B850 @Hghd] GofiSnish HHESn dod Jordnw
Sr@d dady) Bobad Gamon 8

(1) ddraren doko &K (2) &' Sobosn ddrdadrdo

(3) &5y, ot DGO (4) wend§ SHbcko DBg darer

Name the programme which is being implemented by the Government of India to encourage
innovation and start-ups in India

(1) Self Employment for Youth utilisation
(2) Self Employment and Technical utilisation
(3) Self Employment Assurance scheme

(4) Self Employment and Talent utilisation

SS50der S0l @ofs HoFhod |FErolTas erdd Habdgo BHGS Hego
(1) D&y Jodrohoss & oors oS0BBHRS

(2) D&y ool wob BEES CS0BBRIS

(3) 2 200D ARG W), 0

(4) ':’n:eb":) Q0ardHR0E ol &rBod cnETRAS

Which Banking reforms committee introduced “narrow banking method” in India
(1) Ranga Rajan committee ) Narasimham committee
(3) Damodaran committee (4) Ahluwalia committee

808 8¢5 rUSBISNG® ergofon Sod)dnos “SofHdd wrgodofi’ HEER
JrD0DS E2083

(1) SodraS &3 (2) 56050 L8
(3) TIrSES §208 (4) espTdoske §208
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